NAME______________________________

Graphing ~ Take 2

Solve each of the following equations for y.

Examples...

1.  
12x + 3y = 6




2.  -2x - 4y = 20

Now you try...

3.  -10x + 5y = 25




4.  -12x + 6y = 18



5.  14x – 2y = 18





6.  2x – 3y = 12

Solve each of the following systems of equations by graphing.
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Examples:

7.      -4x + 4y = 4


-6x + 2y = -14

8.  
y = -x + 8[image: image2.emf]1 2 3 4 5 6 7 8 9 x
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-6x + 3y = 15

Now you try...


9.  
-6x + 6y = 6


4x + 4y = -12

10.  
y = x + 5

8x + 4y = 32


11.  
-x + y = -4


y = 3x

12.  
-6x+3y = -6


y = 6
13.  Derick is participating in a walkathon.  

· One of his sponsors gave him a $2 donation as well as $.50 for each mile he walks.  

· Another sponsor is going to pay him $1 for each mile he walks.  

a.  Write an equation to represent each sponsor’s donations.



Sponsor 1: __________________

Sponsor 2: __________________

b.  Graph both equations on the grid.

c.  What does the point of intersection mean in this context?

14.  Rollercoaster City charges an entry fee of $20 plus an additional $1 for each ride.  Amusement Adventures charges an entry fee of $10 plus an additional $2 for each ride.  

a. Write an equation to represent each the charges at each amusement park.

Rollercoaster City: __________________




Amusement Adventures: __________________

b.  Graph both equations on the grid. 
c.  What does the point of intersection mean in this context?

